VERBAL PROBLEM



Some think that math is solely about moving
numbers and letters around, but math is all

\_/

itten in words



(Don't jJump to any conclusions about the answer until

you fully understand what the problem is asking)
(make a list of facts that are given in the

oroblem/ story)

3. Figure out exactly w (know what you
M simply states what they are
dlem is asking

4. Eliminate excess information 145
y/and

=



(sometimes you may need to convert the
given information into different units- for example, from inches to square meters;
using table of conversions, an online calculator, or your own memory in order to
know the conversion calculators)

(if necessary, to help you visualize a problem)

Find or develop a formula 1e problems you create a formulas or you utilize a

Consult a reference

Do the math and check your answer



spent for a blou



The problem directly states "This" -- that is, $42 -- was $14 less than
two times x (the price).

Creating the equation would give us .

2x — 14 = 42
2x = 42 + 14
2x = 56

56

the blouse costs $28.00

» Checking our answer
2(28) — 14 = 42
56 — 14 =42
42 = 42




In order to solve we assess what informatic

« 266 persons consisting of men, women, and children
* Four times as many men as children
« Twice as many women as children
« How many of each are there?




Solving for x:
7x = 266

x = 38
Now 38 IS NOT the only solution, in order to figure out the solutions, we need 1o plug
38 info each of the initial equations we formed for men, women, and children
Plugging in :
4(38) = 152 men
2(38) = 76 women

The solutions are:
Within the group of 266 people, there are 38 children, 152 men, and 76 women.




@ =

38 + 4(38) + 2(38

Plugging in x = 38 bac

38+ 152+ 76 = 266
266 = 266

Thus, within the group of 266 people, there are 38 children, 152 men, and 76
women.



Peter has six fimes as many dimes as quarters
IN her piggy bank. She has 21 coins in her




Since one 1 dollar equals 100

Putting it all together, we form the equation:
25x cents + 60x cents = 255 cents

85x cenfs = 255 cents
85x cents _255 cents

85 cents - 85 cents

x =3

6x=6x3=18

Therefore Peter has 3 quarters and 18 dimes



75 cents + 180 cents = 255 cer

255 cents = 255 cents

/

d e

Seeing as the left-hand side equals the right-hand side, the solution we gained stang

Thus, Peter has 3 quarters and 18 dimes.






Let X be the first number. Ley y be the second number

X+y=16

X-y=4




Sincex+y=16,10+y=16
10+y=16
10-10+y=16-10

X+y=16 10+y=16
10+6=16 10+6=16

Thus, x=10 and y = 6.



Solution:
We are going to let x= the amount of 5% concentration.
+ The 5% concenitration is mixed with the 2% concenftration get the 3%

concentration, the amount of 3% will be x+50. In other words, the basic equation

for this problem is
. (amount of 5%) + (amount of 2%) = (amount of 3%)

X + 50 = x+ 50
Including the concentrations, the above equation becomes:
5% (x) + 2%(50) = 3%(x + 50)

Rewriting the percents as decimals:
0.05x + 0.02(50) = 0.03 (x+50)

Simplifying:
0.06x+1=0.03x+1.5



Solving for x:

0.05x + 1 =0.03x + 1.5
Subtracting 0.03x from both sides:
0.02x+1=1.5
om both sides:




W

0.05 (25) + 0.02 (50) = 0.03 (25 + 50)  wiite perce

1.25+1=0.03 (75) Simplify

225 =225 Checks



AS you can see, there are many forms of verbal problems within
math and the real world.

sheet for this workshop, you will get to work out more
oplement what you have
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